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Block numbering




MODULE main

MODULE main

AR

tile : array 1..3&6 of O._1E;

blockl : process LREELOCE(l, =5, tile[l], tile[Z], tile[3], tilel[4], tilel[5], tile[&]);

blockZ : process LBEBLOCE(Z, =5, tilel[?], tile([2], tile[9], tile[l0], tile[ll], tile[l1lZ]1);
blaock?® : process LBEZEBLOCE(Z, =1, tilel[l3], tilell4], t£ile[lE], tile[le], tile[17], tile[l2]);
blockd : process LBEZELOCE(4, =1, tilel[l%], tilelz0], tile[zl], tile[zZ], tile[z3], tile[Z4]);
blockt : process LBIBLOCE(L, =z, tilel[zZEk], tilelz&], tile[z?], tile[z8], tile[z3], tile[30]);
blocké : process LBEEBLOCE(G, =3, tilel[3l], tilel32], tile[33], tile[34], tile[35], tile[3&6]);
block? : process UDEBLOCE(7, =5, tilelll, tile([7], tilel[l3], tilel[l?], tilelz2f], tilel3l]):
block® : process UDEELOCE(S, =sZ, tile[3], tile[?], tile[lE], tilel[Zl], tile[Z29], tile[33]);
block? : process TDEELOCE(2, =1, tile[4], tile[l0], tile[l&], tile[ZE], tile[Z8], tile[34]);
blockld : process UDZBLOCE({l0, =3, tile[4], tile[l0], tilell&], tilelZ2Z2], tilel[Z8], tile[34]1;
blaockll : process UDZBLOCK(1l, =3, tile[&], tile[ll], £ile[l17], £ilel[23], £ilel[Z9], tile[3E]):
blocklz : process UDZBLOCK(lZ, =&, tile[&], tilel[ll], t£ilel[l7], tilel[23], tilel[zZ3], tile[3E]1):
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MODULE block

* LR2BLOCK
* MODULE LRZBLOCKfindexf initstate, tilel, tile2, tile3, tile4, tile5, tile6)
* LR3BLOCK

« MODULE LR3BLOCK(index, initstate, tilel, tile2, tile3, tile4, tile5, tile6)

* UD2BLOCK

« MODULE LR3BLOCK(index, initstate, tilel, tile2, tile3, tile4, tile5, tile6)



BLOCK state

MODULE LRZBLOCKS i ndes:,
VAR

state

MODULE LR3BLOCK( index,
YAR

state

MODULE UDZBLOCKS i ndes:,
VAR

state

initstate, tilel,

D181,

52, 53, sd,

initstate, tilel,

D isl,

52, =3, sdk;

initstate, tilel,

D181,

s2, 53, s4,

tileZ, tile3, tiled, tileb, tilef)

sht;

tile2, tile3, tiled, tile5, tileB)

tileZ, tile3, tiled, tileb, tilef)

shF;



MODLLE LﬁEELDEK(index, initstate, tilel, tileZ,

B35 G

state : {=1,

init{state) :

next{state)
case
(stat
[stat
(stat
[stat
(=tat
(=tat
istat
(stat
TRLE
BSAC:

next(tilell :
case
(stat
[stat
TRUE
BSAC

next(tile2l :
case
(stat
i(stat
TRLE
BSAC

next{tile3) :
case
i(stat
[stat
[ stat
i(stat
TRLE
BSAC

next{tiled) :
case
i(stat
[stat
[ stat
i(stat
TRLE
gsac;

sf, =3, =4, s5F;

= initstate;

e =51 & (tiled
e =s2) & (tilel
B =s52) & (tiled
e =53 & (tile?
e =353 & (tileh
e =sd) & (tile3
e =sd) & (tileb
e =sh) & (tiled
 state:

e =sl) & (tilel
B =s52) & (tilel
Dtilel;

B =s52) & (tile2
e =53 & (tile?
Dtile?;

e =51 & (tiled
e =s2) & (tiled
e =153 & (tile3
e =sd) & (tiled
Dtiled;

e =352 & (tiled
e ==s3) & (tiled
e =xgd) & (tiled
e =sh) & (tiled
Dtiled;

tiled, tiled,

ay: {st.
aj: {sl,
aj: {s2,
ay: {s2,
aj: {s3,
a3: {s3.
0): 1s4,
a3: {s=4,

s52};

s3F;
s3f;
sdt;
sdt;
shf;
sBF;

0 : index:
index) - 0O;

0 : index:
index) - 0O;

index) - 0O;
0) @ index;
0} : index;
index) - 0O;

index) - 0O;
0) @ index;
0} : index;
index) - 0O;

tileS, tileB)

=

Model code

nextitiled) :=
case
{state
(state
(state
{state
TRLE
BSac:
next(tileg) =
case
{state
(state
(state
TRUE :
Bgac:
nextitilel) :=
case
(state
(state
TRLE :
egac:
running

=520 & (tiled
= s3] & (tiled
=gd] & (tiled
=3s8) & (tiled
tiled;

=330 & (tileb
=zgd) & (tileb
=gh) & (tileh
tileh;

=gd) & (tileh
=38) & (tileB
tileb:

index) - 0;
0} : index;
0y : index;
index) - 0;
index) - 0O;
0} : index;
0y : index;
index) - 0O;
) : index;



MODULE LR3BLOCK( index, initstate. tilel, tile2, tile3, tiled, tileb, tilek) r\v/1 (:j |
i odel code

state : {51, 52, =3, sd};

A55|GH
initi{state) = initstate;
nexti{stata) :=
case
(state = s1) & (tiled = 0): {51, s2);
(state = s2) & (tilel = 0): {81, s2};
(state = =2) & (tile5 = 0): {52, s3};
(state = =3) & (tile2 = 0): 1s2, s3};:
(state = s3) & (tileB = 0): {83, sd};
(state = sd4) & (tiled = 0): 153, sd);
TRUE : state:
BSAC; _
ggzgit|le1) = nextitiled) :=
{state = s1) & (tilel =0) : jndex; Lase _ _ .
(etate = =2) & (tilel = index) : O: Estate = = index) : 0
TRLE : tilel: state = = D:' Doindew;
esac; TRJE : t
; - gsac;
E::E(tllezj - next(tilel) :=
{state = s2) & (tile2 = 0) : jndex; Lase _ . .
{state = 53) & (tile2 = index) : 0: Estate = index) - O
TRLUE : tile?: state = D:' Doindex;
esac; TRUE -
; . Bsac:
Eszgit|I93) next(tileB) =
{state = 53) & (tiled = 00 : index; Lase _ . -
{state = sd4) & (tile3d = index) : O; Eatate = index) © 0;
TEUE : tiled: state = 0) - index:
Bsac; TRLE -t
. . BSarc
potrited) FAIRNESS
{state = s1) & (tiled = index) : O; running
{state = s2) & (tiled = 0) : index;
TRUE : tiled:



MODULE UDZBLOCK( index, initstate, tilel, tileZ, tile3, tiled, tileh, tileB)
YAR

state : {51, 52, =3, =4, sE5};
LS5 GH
init{state) = initstate; O e CO e

nextl{state) :

case
(state = =1 & (tile3 = 0): {s1, =2};
(state = s2) & (tilel = 0): {s1, s2k;
(state = s2) & (tiled = 0): {s2, =3}:
(state = 53) & (tile2 = 0): {52, s3};
(state = s3) & (tile5 = 0): {s3, sd}f;
(state = =4) & (tile3d = 0): {53, sd};
lstate = sd) & (tileb = 0): 1sd, s5F;:
Istate = sB) & (tiled = 0): {54, s&f;
TRUE : state;
Bgac:
next{tilel) :=
case
(state = s1) & (tilel =0) - index: . .
(state = s2) & (tilel = index) : 0; g:z;itl|EﬂJ =
eSac; TRUE = tilel: (state = s2) & (tiled = index) - O:
next{tile2) := (state = s3) & (tiled = 0) © index;
case (state = s4) & (tiled = 0) : index;
(gtate = g2) & (tile2 = 0) : index: (state = sB) & (tiled = index) : 0;
(state = s3) & (tile2 = index) : O; ~ TRUE = tiled;
TRUE - tileZ: BSac; )
Bsac; nest (tileg) =
i = Ccase
2::;(t|leﬁﬁ (state = 53) & (tileh = index) - O;
Istate = 51 & (tile3 = index) - 0O; [state = s4) & (tiled = 0) © index;
{state = s2) & (tile3 = 0) : index: (state = s58) & (tileb = 0) : index;
(state = s53) & (tile3 =0) - index: - TRUE - tiles:
istate = s4) & (tile3 = index) : 0O; Bsac; B
TRUE : tile3; nexti{tilel) :=
esac; case
next(tiled) = (state = s4) & (tileB = index) - O;
case (state = sB) & (tileB = 0) : index;
(state = s2) & (tiled = index) : O; ~ TRUE = tilef:
Estate = sgg g Eti:ej = 8% : ingex; esac,
state = s tiled = Toindex:
{state = s5) & (tiled = index) : 0O: F& | RNESS .
TRUE - tiled: running



Property

* EF(block3.state = s5)



Problems



Thank You



